BGP088 (W/C): W | Type: B | Nevada Saltbush Scrub
Mollisols Shondow | ESD: Saline Meadow
Geomorphic: stream terraces
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Figure 1: Two—Sample t—-Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
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Baseline sample size (n = 11). Current year sample size (n = 9). Error bars = 95% CI.



BGP162 (W/C): W | Type: B | Nevada Saltbush Scrub
Entisols Hesperia | ESD: Loamy 5-8" P.Z.
Geomorphic: alluvial fans
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Figure 2: Two—Sample t—-Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 9). Current year sample size (n = 17). Error bars = 95% CI.
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BLK094 (W/C): W | Type: C | Alkali Meadow
Aridisols Winerton | ESD: Saline Bottom
Geomorphic: stream terraces
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Figure 3: Two—Sample t-Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 9). Current year sample size (n = 17). Error bars = 95% CI.
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FSL044 (W/C): W | Type: C | Alkali Meadow
Aridisols Numu | ESD: Saline Bottom
Geomorphic: stream terraces

S _
580 T T
560_ * x o, * * .
(__540_ * X % T
c
c 20
(0]
g o T T T — T
— 1985 1990 1995 2000 2005 2010 2015
S _
;; 80 B
2 60 - H . T x
o
TE4O_ &&* ﬁ ﬂ:‘* . **
c * *
= ] hianfasggng
(0]
& o , , L A e e A A
0 1985 1990 1995 2000 2005 2010 2015
—_ 5 = - — -°
§1o— R T
£ 154 \/
20_ .\
T — T T T T T
7 1985 1990 1995 2000 2005 2010 2015
%]
L 0.30
5
2 0.25 _
% 0.20
S, 0.15
2 0.10 H HHHH
g (REENEAREERIREERENSHA] , ; LR
300 1985 1990 1995 2000 2005 2010 2015
_ 250 - _
Ei 200
= 150
&100—“ H
Nl nl a1 [0nn
: LT LR e LA LL LR

1985

Figure 4: Two—Sample t—-Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
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Baseline sample size (n = 6). Current year sample size (n = 6). Error bars = 95% CI.



FSLO54 (W/C): W | Type: D | Modoc—-Gr.Basin Riparian Scrub
Mollisols Fluvaquentic Endoaquolls | ESD: Moist Floodplain
Geomorphic: depressions

100 A .
80 PR = Baseline

60 £,
40 -
20

Perennial Cover [%)]

1985 1990 1995 2000 2005 2010 2015

Baseline

Perennial Grass [%)]
N
o
1

1985 1990 1995 2000

DTW [f]
NOOwOYSTRMANO
I I |
1
N
/

N

1985 1990 1995 2000 2005 2010 2015

o1 | [T ([T TR

1985 1990 1995 2000 2005 2010 2015

NDVI [dimensionless]

250 M —

Figure 5: One—Sample t—-Test: Baseline (wvcom) vs. reinventory (* p < 0.05).
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Baseline sample size (n = 1). Current year sample size (n = 14). Error bars = 95% CI.
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FSP020 (W/C): W | Type: B | Nevada Saltbush Scrub
Aridisols Hessica | ESD: Saline Bottom
Geomorphic: stream terraces
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Figure 6: Two—Sample t—Test: Baseline (Ipt) vs. reinventory (* p < 0.05).

Baseline sample size (n = 11). Current year sample size (n = 17). Error bars = 95% CI.
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INDO19 (W/C): W | Type: C | Alkali Meadow
Mollisols Shondow | ESD: Saline Meadow
Geomorphic: stream terraces
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Figure 7: One—Sample t—Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 1). Current year sample size (n = 12). Error bars = 95% CI.
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INDO21 (W/C): W | Type: C | Rabbitbrush Meadow

Mollisols Dehy | ESD: Saline Meadow

Geomorphic: alluvial fans, stream terraces
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Figure 8: One—-Sample t—-Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 1). Current year sample size (n = 14). Error bars = 95% CI.
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INDO26 (W/C): W | Type: C | Alkali Meadow
Histosols Rindge family | ESD: Wetland
Geomorphic: fan terraces, stream terraces

1985 1990 1995 2000 2005 2010 2015
5 * x X ok X * *

oo b

[ I I I 7
1985 1990 1995 2000 2005 2010 2015
\ e
) \.—0 — %~ - .. - P * Se -
N\ e Tt

I I T — I T I I I I
1985 1990 1995 2000 2005 2010 2015
1985 1990 1995 2000 2005 2010 2015

H HHHHHH | H HHHHHH I'IHHH il
e e N B e N
1985 1990 1995 2000 2005 2010 2015

Figure 9: One—-Sample t—-Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 1). Current year sample size (n = 16). Error bars = 95% CI.
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Geomorphic: stream terraces

LAWO35 (W/C): W | Type: C | Alkali Meadow
Entisols Sabies | ESD: Sodic Terrace
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Figure 10: Two—Sample t—Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 6). Current year sample size (n = 8). Error bars = 95% CI.
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LAWO043 (W/C): W | Type: E | Rush/Sedge Meadow
Entisols Sabies | ESD: Sodic Terrace
Geomorphic: stream terraces
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Figure 11: Two—Sample t—Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 8). Current year sample size (n = 9). Error bars = 95% CI.
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LAWO52 (W/C): W | Type: C | Alkali Meadow
Entisols Yaney | ESD: Sodic Terrace
Geomorphic: stream terraces
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Figure 12: Two—Sample t—Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 6). Current year sample size (n = 5). Error bars = 95% CI.
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LAWO70 (W/C): W | Type: E | Rush/Sedge Meadow
Entisols Sabies | ESD: Sodic Terrace
Geomorphic: stream terraces
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Figure 13: Two—Sample t—Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 6). Current year sample size (n = 5). Error bars = 95% CI.
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LAWO72 (W/C): W | Type: C | Alkali Meadow

Aridisols Numu | ESD: Saline Bottom
Geomorphic: stream terraces
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Figure 14: Two—Sample t—Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 6). Current year sample size (n = 14). Error bars = 95% CI.
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LAWO78 (W/C): W | Type: C | Alkali Meadow

Aridisols Numu | ESD: Saline Bottom

Geomorphic: stream terraces
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Figure 15: Two—Sample t—Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 7). Current year sample size (n = 8). Error bars = 95% CI.
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LAWO082 (W/C): W | Type: C | Rabbitbrush Meadow
Entisols Sabies | ESD: Sodic Terrace
Geomorphic: stream terraces
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Figure 16: Two—Sample t—Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 6). Current year sample size (n = 8). Error bars = 95% CI.
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Figure 17: One—-Sample t-Test: Baseline (wvcom) vs. reinventory (* p < 0.05).

LAWO085 (W/C): W | Type: C | Alkali Meadow
Aridisols Pokonahbe | ESD: Saline Bottom
Geomorphic: lake terraces, stream terraces
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Baseline sample size (n = 1). Current year sample size (n = 4). Error bars = 95% CI.



LNPO45 (W/C): W | Type: C | Nevada Saltbush Meadow
Aridisols Winnedumah | ESD: Sodic Fan 5-8" P.Z.
Geomorphic: lakebeds (relict), stream terraces
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Figure 18: One—-Sample t—-Test: Baseline (Ipt) vs. reinventory (* p < 0.05).
Baseline sample size (n = 3). Current year sample size (n = 7). Error bars = 95% CI.
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